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- PAs A 992 0.008 0.250 0.036 0.045 0.029 0.051 3125 1.25 1.76
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g A A S ]
PR ZEAS n apEAS | f

AR A2 Bk Huo ES Bigk Ho
o 179 0.004 0.036 0.151 0.001 0.113 2.188
Azt 992 0.008 0.045 0.250 0.006 0.251 6.121
Z%FE 651 0.015 0.052 0.327 0.015 0.466 21.462
setE 53 0.023 0.080 0.444 0.034 0.795 14.592
Eavzll 1,875 0.004 0.047 0.444 0.001 0.325 21.462

¥ 60 YeRd npe} o) Ak Azl wpEAGE 1797) R #xFEoA 0.001 ~ 2.188, 9927 A4 A&
oA 0.006 ~ 6.121, 6517 &= FEoA 0.015 ~ 21.462, 537) S¥HE zFFoA] 0.034 ~ 14.592, HA|
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